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QUESTION 1

Which of the following protocols allows Cisco devices to acquire and utilize digital certificates from Certification
Authorities (CAs)? 

A. Extensible Authentication Protocol (EAP) 

B. Certificate Management Protocol (CMP) 

C. Hypertext Transfer Protocol (HTTP) 

D. Certificate Enrollment Protocol (CEP) 

Correct Answer: D 

 

QUESTION 2

Which of the following layers of the OSI model corresponds to the Host-to-Host layer of the TCP/IP model? 

A. The transport layer 

B. The session layer 

C. The application layer 

D. The presentation layer 

Correct Answer: A 

 

QUESTION 3

Which of the following does Certification Authority (CA) provide in an e-commerce system? Each correct answer
represents a complete solution. Choose two. 

A. Credit 

B. Trust 

C. Transparency 

D. Identification 

Correct Answer: BD 

 

QUESTION 4

Which of the following statements about active attack is true? 

A. It does not insert false packets into the data stream. 
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B. It makes the computer\\'s network services unavailable. 

C. It inserts false packets into the data stream. 

D. It locks out the users\\' accounts. 

Correct Answer: C 

 

QUESTION 5

Which of the following entities is used by Routers and firewalls to determine which packets should be forwarded or
dropped? 

A. Rainbow table 

B. Rootkit 

C. Access control list 

D. Backdoor 

Correct Answer: C 
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